Nr. Description Standard Size Material Quantity Unit Unit I;r;c:) (eur Comments
1 |Welding pin 1SO 13918-PT M8x20 AlSI316L (EN1.4404) 65 ea
2 [Welding pin 1SO 13918-PT M8x25 AlSI316L (EN1.4404) 35 ea
3 [Welding pin 1SO 13918-PT M10x25 AISI316L (EN1.4404) 45 ea
4 |Washer 1SO 7089 M8 200HV - A4 64 ea
5 |Washer DIN 126 M8 A4 - 80 22 ea
6 |Washer DIN 125 M8 A4 - 80 8 ea
7 |Washer DIN 128 M8 A4 - 80 8 ea
8 [Washer DIN 9021 M10 AISI316L (EN1.4404) 2 ea
9 [Washer DIN 126 M10 Ad 92 ea
10 |Washer DIN 125 M12 A4 -80 8 ea
11 |Washer DIN 128 M12 A4 -80 8 ea
12 (Washer DIN 126 M12 A4 700 ea
13 |Washer DIN 125 M20 A4 -80 8 ea
14 |Washer DIN 126 M20 A4 16 ea
15 [Lock nut 1SO 10511 M8 A4-70 64 ea
16 [Nut DIN 934 M8 A4-80 30 ea
17 [Nut 1SO 4032 M8 A4-70 13 ea
18 [Nut DIN 934 M10 A4-80 62 ea
19 [Nut DIN 934 M12 A4-80 420 ea
20 |Nut DIN 934 M20 A4 16 ea
21 [Screw 1ISO 4017 M8x50 A4-70 32 ea
22 [Screw DIN 933 M10x30 A4-80 30 ea
23 [Screw 1ISO 4017 M12x35 A4-70 8 ea
24 [Screw DIN 933 M12x35 A4-80 8 ea
25 [Screw DIN 933 M12x50 A4-80 39 ea
26 [Screw DIN 933 M12x70 A4-80 331 ea
27 [Screw DIN 933 M20x80 A4-80 8 ea
28 [Thread bar DIN976 M12 A4-70 1.5 ea
29 [Socket screw DIN916 M8x20 A4 32 ea
30 |Eye bolt DIN 444 M12 X 75 A4 32 ea
31 [Lock ring DIN471 DIA10X 1 Spring steel HRC47-54 128 ea
32 |Bushing ring M10x10 Nylon 96 ea

Comments: ALL items shall have 3.1 or 2.1 certificates or Certificates of Conformity.



Petr Osvald


